:Aq paysinbuljay

Z jo | ebeg

(N

:Aq paysinbuijay

S :Aq paaladay le :Aq pantesay
Q@ ® \WTDS\Q,U awi | /ayeq h.»& Eg ; %, JmfloO awi] fareq
0S- Yyasjwsyy 8L0¢/¥Z/60 ¥o0r ¢Lo ¥0d3sn 0 Bap  j00) SpIjos jusdlad Le-SLLSr plos 8L0¢/¥0/0L
0S- Yosqwayo 8L02/¥Z/60 £€907r [4%0] ¥0d3sn 2 Bap |00 SpijoS jusdied 0g-sLisr ploes 81L02/¥0/01
0S- Yyasjwayy 810Z/¥Z/60 29071 ZLo #0d3sSN 0 Bap ¢ |00 SploS jusdiad 6L-GLLGI pllos 810¢/¥0/0L
0S- Yosjweyg 8L02/v¥Z/60 LeoTr (419} ¥0d3sn 0 Bep ¢ j00D Spljos usdlad 8L-GLisr pijog 8L02/r0/0L
0S- yasjwayo 8L0¢/vZ/60 090Tr [4%9] $0d3sn 0 Bep {7 100 SpPIjoS Juadlad LL-GLLlsr ples 8L0Z/¥0/0L
0S- Yyosjwayo 810¢/5¢/60 89011 ZLo ¥0d3sn D Bap y j00D Spljos jusdlad 9L-GLLSr pios 81L02/S0/0L
0S- Yosjweayn 810¢/5¢/60 4907r [4%9) ¥0d3asn 0 Bap ¢ 100D SPI0S jusdlad SL-GLLsr pllos 8102/50/01
0S- yosjwsyo 810¢/5¢2/60 99211 r4%e] #0d3sn 0 Bap ¢ 00D Spljog juediad vL-GLLSr plios 8L0¢/50/01
0S- Yyoayweyg 81L0¢/92/60 aror [419] ¥0d3sn 0 Bap ¢ 00D SpIjos jusdlad €L-§LLsr pies 810¢/90/01
0S- yosjwayg 8L0¢/9¢/60 £ror Lo ¥0d3sn 0 Bap { |00 Spljog jusolad ZL-siisr plos 810¢/90/01L
0S- Yyoejwayy 810¢/92/60 croTr Zlo #0d3sn 0 Bap ¥ 1009 Spljog usdiad LL-GLLST pios 8102/90/0L
0S- Yosywayo 8102/92/60 LOr 4%} ¥0d3sn 0 Bap 1009 SPIoS usdiad OL-GLLGr pijos 8102/90/01L
0S- Yosjway) 8102/92/60 oror [440] #0d3sN 0 Bap ¢ j00D SpIoS Juadiad 60-GLLGM ples 810¢/90/0L
0S- Yosjweyp 8102/5¢/60 aswsLor [439] r0d3sn 0 Bap ¢ |00 SpI|0S Jusdiad 80-GLLSI pllog 8102/S0/0L
0S- Yyosjweyo 8102/52/60 SWSLOTr cLo 0d3asn 0 Bep ¢ [00D SPIIOS jusdiad L0-GLLSr plos 8102/50/01
0S- yosjwayo 810¢/52/60 SLor ZLo #0d3sn 0 Bep 1 j00D Spl|os usdiad 90-GLLSr plos 8102/50/0L
0S- Yosjwayg 810¢/52/60 viLor clo ¥0d3sn 2 Bap p j00D SPI|oS jusdlad So0-SLLsr plos 810¢/50/01
0S- Yosjwsyo 810¢/52/60 €Loar ZLo 70d3sn 0 bBap ¢ 1009 Spljog jusdiad P0-GLLGI plles 8102/50/0L
0S- Yosjwayy 8L0¢/se/60 cLor Zlo #0d3sn 0 Bap y |00 SPIOS juadlad €0-sLiar plos 81L02/50/01L
0S- Yosjwsyd 810¢/5¢2/60 LLoar ZLo #0d3sn 0 Bep ¢ 100D SpIjog jusolad co-gLLsr plos 8102/50/01

0S- Yejwayy

poyjapy

810¢/5¢/60

8jeq 333]]0D

oLor

a|dweg sawo)sny

LD

P0d3sSnN

dawoljsny

0 Bap p [00D

2AljeAlasald

spljog Jusdlay

}sa)

LO-GLisr

djdwesg

pllos

810¢/50/01
uoneso

abelojg

X13en

8jeq ang

WNd 2¢2:91°2 81L0T/.L2/6 - 8jeg £€8C.LLL - QHISITHoM SLLSFL% - SWEN ISITHIoNA

(ureyo reussyu| AdoopreH) | SITMHOM

(h( 3k &1



T J0 Z ebed

0
g m{w :Aq paysinbuijay QPJ :Aq paysinbuijay

:Aq paalagsey QaM:.J :Aq panlasay

m\;o/\ﬁ @ %ﬁﬁfm FKN awij/ajeq SGD/\$ %Ftﬁfmﬁo awui) jajeq

0S- Yosiwey) 8L0¢/+2/60 S90Tr [4%9] 70d3sSn 0 Bap ¢ j00D Spliog jusdiad ¢e-GLLSr pllos 8L0¢/v0/01L

uonesoT]

poyls ajeq 193]109 ajdweg J1awojsny e J2Wwo)sny dAljEAlIBSAId a|dwes  xujep ajeq ang

Nd ¢2:91'Z 8L02//L2/6 -9eg €8TLLL - alismyiopn

GLLSHL% : BWEN ISITHIOM

(urey9 jeussyu| AdoopieH) L SITHYOM

(bldb 4t



